POWER STATION (10000601)

BORILLA oPORTS




“"'“Mlllilllll oPIAT

NNNNNN

//////////////////// @M

11111111111111

//////////////////// 2;/////////

i —

nnnnnnn




“PUORILLA oPORTS

235

Unit weight: 30 KG
Dimensions complete: 85 cm x 120 cm x 235 cm
Maximum loading: 120KG




i,

Hex Bolt (M10%122)-1PCS

i

Hex Bolt (M10%70)—-6PCS

Washer (¢10) —14PCS




M

Hex Bolt (M10%70)-2PCS

iy

Hex Bolt (M10%20)-6PCS

©
\ /

Nut (M10) -2PCS  Washer (#10) —-10PCS




MVN

Hex Bolt (M8*65)—6PCS

m O

Hex Bolt (M10%20)-2PCS  Washer (#10)-2PCS

©)
\ /

Nut (M10) -1PCS Arc. Washer (10) —2PCS

o]

S

Inside PAN-HEAN bolt ®10%122 1PCS

i

Hex Bolt (M10%135)-1PCS




1 T
T

Hex Bolt (M10%45)-2PCS

Hex Bolt (M10%20)-2PCS

O ©

Nut (M10) -2PCS  Arc. Washer (10)-4PCS  Washer (¢10) —4PCS




